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Wheel and Axle

‘The mechanical advantage of a wheel and axle is the ratio of
the radius of the wheel to the radius of the axle.

Click next to see more.
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Wheel and Axle
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Question 1:-                                                                 
Choose the correct answer:-                                   (5 Marks)
1.  Frequency is the number of cycle per-----------------.
a) minute
b) hour
c) second
d) All the above
2. The mechanical advantage of the wheel and Axle describes the ratio of rotation between ----------.
a) Effort arm and the load arm.
b) Wheel and Axle
c) Third class of leavers and first class of leavers
             d) Gear and pulley
3. Wheel and axle are usually circular objects, often a --------------.
a) Big wheel and a smaller Axle.
b) Small wheel and bigger Axle.
c) Same size.
d) Medium wheel and smaller Axle.
4. Door knob is an example of using the wheel and axle simple machine to---------------------------------.
a) Increase the speed.
b) Decrease the force.
c) Increase the distance.
d) Magnifying the force.
5. The Mechanical Advantage formula for wheel and Axle is------- 
a) Dw/Da
b) Da/Dw
c) rw/ra
d) Both (a) and (c) answers.
Question 2:-
In the example of a windlass(a device used to hoist objects with rope) the radius of the wheel is six times larger than the radius of the Axle, if the radius of the Axle=2.5cm, calculate the mechanical advantage.
[image: image9.emf]                                                                   (4 marks)
Question 3:-
Calculate the Mechanical Advantage(MA) of a LEGO wheel and axle shown in fig. Knowing that the diameter of the large LEGO wheel is 4cm and the diameter of the LEGO axle is 5mm.
                                                                    (4 marks)

Question 4:-
Write the correct explanation (magnify the force or increase the speed) beside each tool:
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